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GENERAL INSTRUCTIONS TO THE EXAMINEES:

1) narjmWu gd©àW_ AnZo àíZ-nÌ na Zm_m§H$ A{Zdm ©̀V… {bI| &

Candidate must write first his/her Roll No. on the question paper compulsorily.

2) g^rg^rg^rg^rg^r àíZ H$aZo A{Zdm ©̀ h¢ &

All the questions are compulsory.

3) àË òH$ àíZ H$m CÎma Xr JB© CÎma-nwpñVH$m _| hr {bI| &

Write the answer to each question in the given answer-book only.

4) {OZ àíZm§o ‘| AmÝV[aH$ IÊS> ({dH$ënmË_H$) h¡, CZ g^r Ho$ CÎma EH$ gmW hr {bIo§ &

For questions having more than one part, the answers to those parts are to
be written together in continuity.
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IÊS> - A

SECTION - A

1) ~hþM`ZmË_H$> àíZ - [15 × 1 = 15]

Multiple Choice Questions -

i) ^maV Ho$ {H$g amÁ` _| gmjaVm Xa gdm©{YH$ h¡? [1]

(A) _hmamï´> (~) amOñWmZ

(g) C‹S>rgm (X) Ho$ab

Which state of India has the highest literacy rate?

(A) Maharashtra (B) Rajasthan

(C) Odisha (D) Kerala

5) àíZ-nÌ Ho$ {hÝXr d A§J«oOr ê$nmÝVaU ‘| {H$gr àH$ma H$s Ìw{Q> / AÝVa / {damoYm^mg hmoZo na {hÝXr ^mfm Ho$
àíZ H$mo hr ghr ‘mZ| &

If there is any error/difference/contradiction in Hindi & English versions of the
question paper, the question of Hindi version should be treated valid.

6) àíZ H$m CÎma {bIZo go nyd© àíZ H$m H«$_m§H$ Adí` {bI| &

Write down the serial number of the question before attempting it.

7) àíZ g§»`m 22 d 23 _| Am§V[aH$ {dH$ën h¢ -

Question number 22 and 23 have internal choice.
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ii) "H$mñQ> EÊS> aog BZ BpÊS>`m' nwñVH$ Ho$ boIH$ H$m¡Z h¡? [1]

(A) ZaqghmMma (~) Jmo{dÝX ghm` Kw[aE

(g) E.Ama. XogmB© (X) S>r.nr. _wH$Ou

Who is the author of the book 'Caste and Race in India'?

(A) Narasimhachar (B) Govind Sahay Ghurye

(C) A.R. Desai (D) D.P. Mukerji

iii) {ZåZ{b{IV _| go Om{V H$s {deofVm Zht h¡ - [1]

(A) g_mO H$m IÊS>mË_H$ {d^mOZ

(~) ImZnmZ d ghdmg na à{V~§Y

(g) A{O©V àpñW{V

(X) gm_m{OH$ d Ym{_©H$ {Z`m}½`VmE§

Which of the following is not a characteristics of caste?

(A) Sagmental division of society

(B) Restrictions on Feeding and Intercourse

(C) Achieved status

(D) Social and religious restrictions

iv) ^maVr` ZmJ[aH$m| H$mo gyMZm H$m A{YH$ma {X`m J`m Wm - [1]

(A) gZ 2003 (~) gZ 2004

(g) gZ 2005 (X) gZ 2006

Indian citizen were given the right to information -

(A) Year 2003 (B) Year 2004

(C) Year 2005 (D) Year 2006
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v) ^maV _| gm§ñH¥${VH$ {d{dYVm Ho$ g_j MwZm¡{V Ho$ _m¡{bH$ H$maU Š`m h¡? [1]

(A) Ym{_©H$ g§Kf© (~) ^mfm`r g§Kf©

(g) OmVr` g§Kf© (X) Cn ẁ©ŠV g^r

What are the basic causes that challenge the cultural diversity in India?

(A) Religious conflict (B) Linguistic conflict

(C) Caste conflict (D) All of above

vi) Am¡n{Zdo{eH$ ^maV H$m¡Zgr Hw$ar{V`m| go J«ñV Wm? [1]

(A) gVr àWm (~) ~mb - {ddmh

(g) Om{V àWm (X) Cn ẁ©ŠV g^r

Which evils did colonial India suffer from?

(A) Practice of sati (B) Child marriage

(C) Caste system (D) All of above

vii) {ZåZ _| go H$m¡Zgm H¥${f g§JR>Z h¡? [1]

(A) eoVH$mar g§JR>Z (~) am_ H¥${f g§JR>Z

(g) h[aV g§JR>Z (X) _mZd g§JR>Z

Which of the following is an agricultural organization?

(A) Shetkari Sangathan (B) Ram Krishi Sangthan

(C) Harit Sangthan (D) Manav Sangthan

viii) 2011 H$s OZJUZm Ho$ AZwgma {H$VZo à{VeV bmoJ Jm±dm|o _| ahVo h¢? [1]

(A) 49% (~) 59%

(g) 69% (X) 79%

According to 2011 census what percentage of people lives in villages?

(A) 49% (B) 59%

(C) 69% (D) 79%
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ix) d¡km{ZH$ à~§YZ / Q>ob[aÁ_ H$m Am{dîH$ma {H$gZo {H$`m? [1]

(A) {dZñbmo Q>oba (~) ES>_ pñ_W

(g) _¡Šg do~a (X) hoZar \o$`mob

Who invented Scientific Management (Taylorism)?

(A) Winslow Taylor (B) Adam Smith

(C) Max Weber (D) Henry Fayol

x) ^maV _| {H$VZo à{VeV _OXÿa A{Z`{_V h¡? [1]

(A) 30 % (~) 40 %

(g) 50 % (X) 60 %

What is the percentage of casual labour in India?

(A) 30 % (B) 40 %

(C) 50 % (D) 60 %

xi) ŷ_ÊS>brH$aU Ho$ Am`m_ H$m¡Z-H$m¡Z go h¡? [1]

(A) Am{W©H$ (~) amOZr{VH$

(g) gm§ñH¥${VH$ (X) Cn`w©ŠV g^r

What are the dimentions of globalization?

(A) Economic (B) Political

(C) Cultural (D) All of above

xii) ñdV§ÌVm àm{á Ho$ g_` ^maV _| {H$VZo ao{S>`mo ñQ>oeZ Wo? [1]

(A) N>: (~) gmV

(g) AmR> (X) Zm¡

How many radio stations were there in India at the time of independence?

(A) Six (B) Seven

(C) Eight (D) Nine
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xiii) {ZåZ _| go H$m¡Zgm V{_b g_mMma-nÌ h¡? [1]

(A) {XZX§Vr (~) _b`mbr _Zmoa_m

(g) B©ZmSw> (X) {hÝXþñVmZ

Which of the following is a Tamil newspaper?

(A) Dina Thanthi (B) Malayali Manorama

(C) Eenadu (D) Hindustan

xiv) nwamZo gm_m{OH$ Am§XmobZm| _| {H$gH$s Ho$ÝÐr` ŷ{_H$m hmoVr Wr? [1]

(A) gm_m{OH$ Xb (~) Ym{_©H$ ZoVm

(g) OmVr` ZoVm (X) AÝ`

Who played a central role in the old social movements?

(A) Political Party (B) Religious leader

(C) Caste leader (D) Other

xv) gyMZm Ho$ A{YH$ma H$m A{^`mZ {H$g gm_m{OH$ Am§XmobZ H$m CXmhaU h¡? [1]

(A) à{VXmZmË_H$ (~) gwYmadmXr

(g) H«$m§{VH$mar (X) AÝ`

The right to information campaign is an example of which social movement?

(A) Redemptive (B) Reformist

(C) Revolutionary (D) Other
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2) {ZåZ{b{IV ñWmZm| H$s ny{V© C{MV eãX MwZH$a H$s{OE - [5 × 1 = 5]

Fill in the following blanks by choosing the appropriate word -

i) Om{V H$m {ZYm©aU ............ Ho$ AmYma na hmoVm h¡ & [1]

(OÝ_ / H$_©)

Caste is determined on the basis of _________.

(Birth / Karma)

ii) gámh _| EH$ ~ma bJZo dmbo ~mOma H$mo ........... ~mOma H$hVo h¡ & [1]

(hm°Q> / _m°b)

The market which is opened once a week is called ______ Bazaar.

(Haat / Mall)

iii) nwîH$a H$m new _obm .......... _| bJVm h¡ & [1]

(amOñWmZ$ / JwOamV)

Pushkar cattle fair is held in _______.

(Rajasthan / Gujarat)

iv) ~«÷ g_mO H$s ñWmnZm .......... _| hþB© & [1]

(~§Jmb$ / amOñWmZ)

Brahmo Samaj was established in ________.

(Bengal / Rajasthan)

v) gZ 1990 Ho$ XeH$ _| gaH$ma Zo ............ H$s Zr{V H$mo AnZm`m & [1]

(CXmarH$aU / ny±OrdmXr)

In the 1990s, the government adopted the policy of _________.

(Liberalization / Capitalist)

[ Turn Over
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IÊS - ~

SECTION - B

3) A{V bKyÎmamË_H$ àíZ - [12 × 1 = 12]

Very short type questions -

i) {eew _¥Ë ẁXa {H$go H$hVo h¡? [1]

What is the infant mortality rate?
ii) 2011 _| ^maVr` OZg§»`m H$s dm{f©H$ d¥{Õ Xa Š`m Wr? [1]

What was the annual growth rate of Indian population in 2011?
iii) gm_m{OH$ {df_Vm Š`m h¡? [1]

What is social inequality?
iv) Y_© H$s Ñ{ï> go ^maV H¡$gm amÁ` h¡? [1]

What kind of state is India from the point of view of religion?
v) g§ñH¥${VH$aU H$s AdYmaUm {H$gZo àñVwV H$s? [1]

Who gave the concept of 'Sanskritization'?
vi) bmoH$V§Ì H$s Xmo lo{U`m± H$m¡Z gr h¡? [1]

What are the two categories of democracy?
vii) JwOamV _| ~§YwAm _OXÿa àWm H$mo Š`m H$hVo h¡? [1]

What is the bonded labour system called in Gujarat?
viii) Am¡Úmo{JH$ g_mO _| à_wI amoOJma H$m H$moB© EH$ CXmhaU Xr{OE - [1]

Give any one example of prime employment in industrial society.
ix) qàQ>_r{S>`m Ho$ AÝVJ©V Š`m AmVo h¡? [1]

What comes under print media?
x) Am¡Úmo{JH$ H«$m§{V Ho$ gmW {H$g CÚmoJ H$m {dH$mg hþAm? [1]

Which industry developed with the Industrial Revolution?
xi) ZŠgbr Am§XmobZ {H$g joÌ _| ewê$ hþAm? [1]

Naxalite movement started from which area?
xii) {MnH$mo Am§XmobZ H$hm± hþAm? [1]

Where did Chipko movement happen?
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IÊS> - g
SECTION - C

bKyÎmamË_H$ àíZ (SA - I) [14 × 2 = 28]

Short answer type questions (SA - I)
4) gmám{hH$ ~mOma go Amn Š`m g_PVo h¡? [2]

What do you understand by weekly haat market?

5) ny§OrdmX H$s Xmo {deofVmE± {b{IE & [1 + 1 = 2]
Write two characteristics of capitalism.

6) Añn¥í`Vm go Š`m VmËn ©̀ h¡? [2]
What is meant by untouchability?

7) ^maV gm§ñH¥${VH$ {d{dYVm dmbm Xoe Š`m| H$hbmVm h¡? [2]
Why is India called a country of cultural diversity?

8) Am¡Úmo{JH$aU Š`m h¡? [2]
What is industrialization?

9) {dg§ñH¥${VH$aU Š`m h¡? [2]
What is 'Desanskritization'?

10) n§Mm`V H$s H$moB© Xmo e{ŠV`m§ {b{IE & [1 + 1 = 2]
Write any two powers of Panchayat.

11) g§{dYmZ H$m _yb CÔoí` Š`m h¡? [2]
What is the basic propose of the constitution?

12) ^maV Ho$ {d{^ÝZ joÌm| _| H¥${f g§~§{YV Ë`mohmam| Ho$ ~mao _| ~VmBE & [2]
State about harvest festivals in different regions of India.

[ Turn Over
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13) O_tXmar ì`dñWm Ho$ Xmo n[aUm_ {b{IE & [1 + 1 = 2]

Write two consequences of Zamindari System.

14) h‹S>Vmb d Vmbm~§Xr _| AÝVa {b{IE & [1 + 1 = 2]

Write the difference between strike and lockout.

15) ŷ_ÊS>brH$aU Ho$ H$moB© Xmo à^md {b{IE & [1 + 1 = 2]

Write any effects of globalization.

16) "gmon Amonoam' {H$go H$hVo h¡? [2]

What is 'Soap Opera' called?

17) gwYmadmXr Am§XmobZ H$m Š`m AW© h¡? H$moB© EH$ CXmhaU Xr{OE & [1 + 1 = 2]

What is the meaning of reformist movement? Give any one example.

IÊS> - X
SECTION - D

bKyÎmamË_H$ àíZ (SA - II) [4 × 3 = 12]

Short answer type questions (SA - II)
18) OZg§»`m Ho$ àmH¥${VH$ {ZamoY go Š`m VmËn ©̀ h¡? [3]

What is meant by positive checks of population?

19) lr{Zdmg H$s à ŷOm{V H$m g§{já dU©Z H$s{OE & [3]

Briefly describe the Dominant caste of Srinivas.

20) gm_m{OH$ ~{hîH$ma H$mo amoH$Zo hoVw H$moB© VrZ Cnm` ~VmBE & [1 + 1 + 1 = 3]

Mention any three measures to prevent social exclusion.

21) ZmJ[aH$ g_mO go Š`m VmËn ©̀ h¡? [3]

What is meant by Civil Society?
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IÊS> - `

SECTION - E

{Z~§YmË_H$ àíZ - [2 × 4 = 8]

Essay type questions -
22) ny§OrdmX H$m g§{já dU©Z H$s{OE & [4]

Briefly describe capitalism.
AWdm/OR

{~«Q>re Am¡ÚmoJrH$aU H$m ^maVr` g_mO na Š`m à^md n‹S>m? [4]

What impact did British industrialization have on Indian Society?

23) BboŠQ´>m°{ZH$ AW©ì`dñWm Š`m h¡? g_PmBE & [4]

What is electronic economy? Explain.
AWdm/OR

{ZJ_ g§ñH¥${V H$s g§{já ì`m»`m H$s{OE & [4]

Briefly explain corporate culture.


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